2 A (examebook.com ) Hi HE =% il HBAERE. Tl

2012 4F 4 A% 8E A 225 R Al 4 —a @l %R

HEFITEN S
RFERAS: 00452
—. BIEEE (RAB 15 /880, S/ 24, #£304)
ESNET M SET PRG-I ENATEEERY, EHEABESETRNESR. #ik. Siksk
EII RIS
LEHEMEE A ) k5
ASIUAAAT S FE0, 7L P 300 BG4
BB i A 25 0 BEAE
CIMEAMESMEAT H
DREA AL B AE, T ELAMEAT S 230
2 FHBEE T, AR IUR R X R B ) 115

A TR A KA By A e o
C.%H0 A5 LA A D. H A LA A
3FFIAR TR A B ) 1715

A B B
CAEFHHE DML

ARG A R B G S E: RE32%, TN 28%, T8530%, Hifth 10% . #55 H IR IXH S5
PEHKH( D ) 1-36

AHUS E B.ZL K
C.4TEH D. [ K

5N ARG IAR D 25 00, ARIEZEDN 3.7 T, SIS 110 K, AREZEDN 6.2 HEOK, A%
YN EEAREE S SR EAEERRRE( B ) 262

AMREZEFRERE DT B mZER RS

BARE RN T S 2 R

CHEZEFBEET Sz i

DA H 7R RS B 2= A B LR

6.LLav i Hdls iz iR T( D ) 491

AF D ER R B E 73 U A
CAFRG 15 D.AFERE

T RFIRHRZ W BEMA LS A ) P EEE %
AR ZE ] DLIGE AR B.i 7 n] LAy
CARZE e R MATAE R D. i 22 1] BAG3 Sy 1 22 PR 1 22
8.mFEET( C ) 6-153

AFRUES N5 B.i2 Wi 0 56
C.H A2 O 56 D.JE Js I 5
QIEPEEILSIE( D) 6167

A G BRI AN

B.fg % A on A YR Oh

CA W T2 I iR

DA B AR WY A0 B % 1) v 1 27 ) Uk
10 /MR FM YR A ) 7207
A.P<0.05 B.P<0.1

ZER 2 A (examebook.com ) Hi HE =% i, HBAERE. Tl


http://ikaoti.cn/shop/

2 A (examebook.com ) Hi HE =% il HBAERE. Tl

C.P>0.05 D.P>0.1

1 NI E TR YRR IR C ) 6-188

At B.AZ1E P

C.RER M Dl

12 E R E i, B AMRBIX R R “60~657, H51UMZE( B ) 1-20
A.[59.5, 64.5] B.[59.5, 64.5)

C.(59.5, 64.5] D.(59.5, 64.5)

13 A T R IETERdEbR & B ) 5-139

A e B3 25 5

C.INEAF D% X 53

145 BT AR KFEAR P8 ZE R B E RN R D ) 8-251
AF 5% B.t K56

C. x> Ky D.Z # 5

IS AEG BT T, XA RS 56 5 B A S ) B E T ( € ) 8-245
AFER AT BL I FHE I 2

C S H 1 D.SMASHUE R C50

. ZIAMEREE (KK@EL 40T, §EIS, H1245)

16 Wi &8 il 455

SEFRRI I SERR IR A A P k), IR AL G VMR I BEAR F 7, SR SR R R AE S ¢ R A H HETS T
T 2 A IR W L A 8 0 A LIS WA RS

17. B 2-52

TR EHE B A vt 29 O B R 3A e i T — A A B 1 EORE PN AR e PR
18. #hikEsrAn 7-225

AN A RIS TN A, THREREM AR AR RS, X LR IR HOV R 70 A, FRObIX
AMRFAE S AL 3 A

19. 1 REFR 8-243

FEGETH RS, K TR R EL TR LA I A DRk T AR, SORR “HR L7 iR,
=, EEEEKHEEINE, G645, H185)

20. R I E I M ENE LS5, eS8

=8

(D Bk B ) T B

() BRAHEVRMIEZET H;

(3) WAV, ERLIIRENRT S, Wkl 5298,

737?2?-

(1) Pz B R IEAME SRR B, SRR %,

(2) BER%RR, AEZ];

(3) EMEREITETH,

21 AR B . 4-90

(1) Hoe, ZERMERRE, DGR WIah e SO “Re e NBE” SR, i &L%ok, I RACKR I LR
H, WRRAREAE L B A

(2) Hk, SRR E I, SR EATIN T2 5 T AR R AL CREREAD A ik, il %
DS, DASERS > 11 Rt AR 21 P A X el 1A i 58 b 1) S5 B DA 5

(3) Hfa, MRS AT RIEATGE AT AR, L IE OB B IRRE A A 120 56 (105 7K P 5K P 23 AR,
S o b 2 3T RS 12 UG AR

ZARZE AR (examebook.com ) A% =% Bid. HEREE, &l


http://ikaoti.cn/shop/

2 A (examebook.com ) Hi HE =% il HBAERE. Tl

22 fR IR 2 S5V S K EEEEH . 6-152

W

FERFRSE A KNGS AR, 182 20 H BRIA B0FRE PR 2% A6 T 2% 30 45 R AR RR I — 25, B ¢
SEVEDNE

H

(1) XA 22 S I DUE A RIR A 5 g, IV — AN Bk A 2

(2) VRO 2B A 28k

(3) T AR LG 2% 3] B ol

M., TE# (KKEE 3 /NG, §/h#6s, H18454)

23 NRIEHT 6 B LM B R 8 X AR S g Bl . BT A 6 X A G 114 0K,
REE 29 Tou; A7 8 %A Sm 135 K. 4-103

Wil (D)IXAL 6 2 Lo R B i 5 R W — DUk 775 58 4 — 149

(2) X7 6 5 A5 HT 8 & L EAHLEL, kMG Rk B 12

(&5 AR 2 /D

X S
6 % LAV 5 Em(EK) 110 6.2
6 % LR E(T ) 25 3.7
8 X W B E(HK) 125 9.7

X—Y:n¢no
S 6.2
AN '} X_} 2 '2
INB LHEAREZ = \ 29-25
S 3.7
s NZ WK E KB L.
) N\ ez = XK 13512
;ﬁﬁﬁiﬁ%ﬂ:X;X=“¢“0
S 6.2
s N\BLUEMSEEBEHYNS LS E K EEH.
24 A8 EE RS, FEECRAO, 1Didsr, 35100 @, 3§58 100 430 NS 20 AL2FAEAE Z K A 1R g M
B3l 5126
(D)IRKEE 3 UK B ()% I 4y FE i 2(S,=8.88, 45 BARK 2 7 /N8

(D NEwtEHEZ= =0.64

=1.08

%

=1.03

=0.64

%

& 0110203 |04|05(06(07|08|0 10|11 |12(13]14]|15|16|17| 181920

S|

B¢ | hE

187660 7274|7684 |8 |90 788 |R|HM|9%|8|9%|78|7|74

nnf
N
-

t1{0,0;0{0y0y0}1}1{1y1y0;1y1y1y1y170})01{0

&\t
&

GHEAR: D=r, =20 [

ZER 2 A (examebook.com ) Hi A% =52 il HBREE. S


http://ikaoti.cn/shop/

2 A (examebook.com ) Hi HE =% il HBAERE. Tl

fif: (1D HHpRon sl ] gRon SR T 1 1 b9

10 10
T 20
X, =884; X =748

R R AN 2

X, - X, 88.4-74.8 ——
oV .

B X A E 077

(2) T H X2 e B BUE TS 7E-1.00 81,002 18], — N A, FX 2 EEHUE

K T0.40, WX 4 BERE I BUARSR, H1T°0.77>0.4, JT LAZABRIIX 4 FEAR 8 o
25. BB IR N R R BURMIES A, FIBRRRUEZE 5104 75 43 F0 10 4, BLEK 2 40% o ki,
W BN N 2 D2z (R T )5, 45 R 2 M) 4-103
fift: AR EUZ S p=0.5-0.4=0.1,7r % 152=0.25;

EARVIE S E AN/ W

g XX _X-75_ ..
S 10

X=77.5

By BN NTTS
H. SANAE RKE 1/, 104)
26. F R A TR eV A= WA A g, R AW ARSI AR . 9-282

(7{20.05 =3.84, df=l, ZE AR 2 {j/]\i&)

e R} At

- A 17 40
AH 28 - .
NG ! = §

SN, 2 n(ad —bey

AR = e dyar b+ d)

fift: MRPEEUR, N A
1) R A R s g 37 P BB 2
H, : 22 A2 5 B2 BEAN T 2 L MV T e R 11 5
He S AR AT .
(2) WHE G R
2 n(ad —bc)’
@+ b e+ d)b+d)a+c)
_90x(23x22-17x28)’

40x50x51x39
=0.02

(3) HEWIERE: EREKTa=0.05, dE=1EH T, yl,,=3.84
T SE13H 1 2 =0.02 < yoos FTUALRFA B OB H o

ZER 2 A (examebook.com ) Hi HE =% i, HBAERE. Tl


http://ikaoti.cn/shop/

2 A (examebook.com ) Hi HE =% il HBAERE. Tl

75 RIRRE (R KRR 1 /M@, 12 5)
27 IR Ge v s I R IO B AN & PR R R . 8-235
Bf: AR

(GRS NED)
Z Y P Z Y P
25 38667 9871 1.25 18265 .39435
.26 .38568 10257 1.26 18037 39617
27 .38466 10642 1.27 17810 39796
.28 38361 11026 1.28 17585 .39973
29 38251 .11409 1.29 17360 40147

(1) Mo BB AT 26 FRARBEH A AT LA Tt (A AR il

(2) MR - I C a5

(3) MEEBBAFEBBOE B A 1, B BRI LR, S AT,

(4) FFBRBOE IR BB, W WA CRE, WA, ARRIAE

(5) #HFEBBOE R B A Je R BRI e B TC R € AERT, & FEBi—EAE)q;
JE TG BB AT 2 BB B (R A1 R EEAR A AGL 6 1 1 PR R o

ZER 2 A (examebook.com ) Hi A% =52 il HBREE. S


http://ikaoti.cn/shop/

